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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
fill that circle in front of that question number. Use marker or pen to fili the circles. Cutting or fitling two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the hath
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student wili be responsible for the situation.
Use of ink remover or white correcting fluid is not aliowed
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(D) {C) (B) (A) QUESTIONS Q-1 |
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Algae Funaria Bacteria Mushroom | Psilocin 's obtained from
"/’"‘ JZL,/ ‘c:.u/uvffdh(;/.v_,w A “Lﬂ\j’!( 2
Diaphragm Bronchiole ‘ Which structure actively helps in taking the
o air out of lungs?
oo Ve "EI ; B LIl S pol K| 3
Mucilage Latex s Resins Waste materiai that are removed by
coniferous trees is
DAL gl BB i K p’{g}l,p) o Q'{(:;}ﬁ 46 9Py L.);‘l 4
Upper Ear Inner Ear Middie Ear External Ear | Cochiea is present in
(d ol i K Ty e Pl 2L ETrvain| 5
Fovea Ligment Sclera Rods Rhodopsin is present in a part of eye.
Usas Eis LESL o e QS b6 | 6
Lungs Brain Spinal Cord Heart Vertebral Column protects.
ey FORD i o - Z,,/Jf;_s__gd ikl 7
Stem tuber Rhizomes Corms Bulbs Repreduction occur in Ginger by
Frg e d 183 | Fag et U T| et §3 g e bt RAS | B
DNA and RNA and DNA Protein Chromatin material is made of
protein protein
..;.fL‘,J:" o Py o _‘-_,;;;31 fug{r (et o
Phenoctype Genotype Alleles Genes Units of inheritance is called
S 174 P el -Gl /IEE L | 10
Habitate Community Biosphere Population |All Ecosystem of the world togather farm the
S7 7 A i e JES U a1
Louse Leech Mosguito Plasmodium | Example of Endoparasite is
2008 2008 2002 2004 Complete map of e S S e ] 12
human genome was published in
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Answer briefly any Five parts from the followings:- 5x2=10 -J/;rf..-.,i..l.z/""’iﬁizl éL .c:..Jf.;.a,,ﬁ s 2
- - L 4

Define passiva smoking.

Which bacterium is responsible for infection of Pneumonia.

Defire Lung cancer.
What are the causes of kidney stone.
What is the average age of a donated kidney.
Differentiate sensory and motor neuron.
Write two main functions of spinal cord.
Define reflex arc.

Answer briefly any Five parts from the followings:-
Which is longest bone in our body?
What is Osteoporosis? Write its causes.
What are Endospores?
Differenciate between External and Internal Fertilization.
State Mendel's Law of Segregation.
What do you mean by dominent and recessive alleles?
What is Punnett square?

Define co-dominance. Give an example.
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Answer briefly any Five parts from the followings:- 5x2=10 _;{/Q;:.sz/‘f’z.lzl 5; a.J/a.wJ:i Ly .4

Define Decomposets and write their importance.
What is competition? Which are ifs types?

Wirite the relationship between sucker fish and shark.
What is meant by "The R3"?

What for GMO is abreviated?

Write Dairy products by fermentation.

Write difference between Antiseptics and Antibictics.
Write name of any two harcotics.

Part I

Note: Attempt any two questions.
(a) Explain homeostasis in plants.
{b} Discuss various components of coordinated action.
(a) Describe different types of bone joints in human.
(b} Describe spermatogenesis and cogenesis in animals,
(a} Describe the basic steps in genetic engineering.

(b) Discuss the Drug Addiction and Associated probiems.
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will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.
Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
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Yeast Fungi Aspergillus Virus Alcoholic Fermentation is carried out by
10 cm 12 cm 14 cm 16 cm - Ol FIIS S S EU S| 2
Length of Human Trachea (Windpipe) is about
A T ¢ i - .
Gy U‘C:.J Vi f Wu__.‘-ﬁé_:L)F’.;.c;ur‘A.f.}ﬁf( 3
. . Wast materials that are secreted by
Mucilage Latex Resins Gums Coniferous Trees are
gk ah T b e bl ok Lol L EFTd| 4
Aqueous Vitreous :
Hchuur Humour lodgpsir ™ Rhodopsin | A Pigment present in Rods of Human Eye.
u.i-fl; oA '...I ’éJ: : I'-"p.; _l,n’ L[gé__h_gj:‘ﬁjbnf/.ﬁru:.ﬂfar_mffdp’f 5
, & ) in which part of Human eye cones and rods
Blind spot Lens Q;pkc Nerve Fovea are not fopund. o
300 256 | o0 204 The number ¢ Grroloi S ugd U oA 401 EL | 6
e of Bones in adult Human Skeleton are
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The ratio of phenotype in Law of
independent Assortment is
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Reproduction chromosomes in | chromosomes in
gametes gametes
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In recycling of one Tonne of paper How
many trees can save.
ST DN I e eavbi| 1
. 1827 - 1927 1826 /1926 LU S L Sy ek 41
When Charles Elton developed the concept
of ecological Pyramids.
of s e e oA 44 |Whichone - db df e Ungin¥e. Lot | 12
| Cephalosporin Insuline Morphine Aspirin of the following drug is obtained from slants ]
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Answer briefly any Five parts from the followings:- 5x2=10 _q&fa;fzﬁ%‘i b S,; c.Jfa.g,tufi Gy _2

What is meant by cellular respiration.

Give difference between glottis and epiglottis.
What is emphysema?

Define homeostasis. Give its one example.
What is lithotripsy?

Differentiate sensory nerve & mator nerve.

What is meant by endocrine system? S sl e A A 3l (viii)
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What is colour blindness? fe U %8 4 (vii)

Answer briefly any Five parts from the followings:- 5x2=10 ..;{/}fa@l.ﬁ/ffﬁizl &g ..—_J)::.uﬁ’.bb» =3

What are Immoveable (Fixed) joints? Give an example.
OOy ()

What is hypogeal germination?

Define Pollen tube.

Differentiate between Homozygous genotype and
Heterozygous genotype.

Define Mendel's Law of Segregation.

Differentiate between Natural selection and Artificial selection.

What is dominant allele? How is it represented?

S RGBS ()
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Answer briefly any Five parts from the followings:- 5x2=10 -./z/cAiz ZL1z1 §} (et Sitw -4

Define Ecosystem, give one example.

Write the name of major decomposers of biosphere.
Define Endoparasites, give one example.

What are producers give one example.

L K iy

Define synthetic drugs. Give one example.

Write two uses of Glycerol.

What is difference between bactricidatl and bacteriostatic antibiotics.

Part I
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Note: Attempt any two questions. 9x2=18 -q)}/.-.-.pz& e Wrna Jf -
{a) Explain the structure of nephron. /:‘;4 _g_gfc;g ;ﬁbufus}-' 0.5
(b) Discuss in detail various parts of forebrain. 5 el U B 108 (L)
(a) Explain Arthritis and its types. A4 SR ES R Py AR OX-

(b) Define Pollination and explain its two types with examples. 75 (f/c feolsn §pUiin § iaiy /o A8 s ()

(a) Write any four achievements of Genetic Engineering. /4
(b) Define medicinal drugs. Write a note on the principle /-.}5

usage of important medicinal drugs.
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